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Quiz #3, Quality control, 2018 Spring [+ 6 points|
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Lt X,,..,Xn~N(,u,az) :

,{?/ (1) [+2] Define d, = E[R/c], where R is the range. Derive the value of 4, when
n=2 (with mathematical derivation)
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(2) [+1] We obtained sizes of chips (43, 44, 47, 46, 45). Find an estimate & by the
range method. [up to 2 digits: 0.00] N=<
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Table: Conversion of range to standard deviation
Gor [iliesil i odeay fo0so 5'-;:33:'.1_ 2326 /| 2534
_TL r:’ ) (3) [+2] Consider testing H,:pu=p, vs. H :pu#p, withlevel a=0.0027
Let 6=y, —u, be the shift of mean. Under H| :u, =, + 6, derive the consumer’s
risk (Type Il error) in terms of &, o,and @
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(4) [+1] Write figures to explain three processes for X,,.X,,
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——{' \ ) Statlonary and 1ndependent process
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(b) Stationary and dependent process
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(c) ¥on—s;ationary and dependent process
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